Leopard 35-70 new

A
WAGNER

I7—E—452—5]

1k -

69— —% _10-15 Nm;
49—% 7-11Ibft
% —

w7 — |

10 !

10— 27 . .'
"< 7 43 ' 107 ——-@
42 '““*«—40 Nm: 30 Ibﬂ
2:3Nm; appr.2 Ibft —— ~ 53
/

i

- 33

53
qLEOPﬁ.RD]

[E00130A

W7 —arha—/La=vyh (POS.100) RIEZHR

H2

o ba— L =vhk (POS.81) D53 fifAa]

it ML T ERLKEETL2HR’HET, 2024.02



Leopard 35-70 new

A
WAGNER

POS i \RES B TEAM ik
1 2329621 1
2 368316 |7I 1 170,000
3 368302 |[E°RARrmwR 1 33,700
4 368303 |V — 1 38,700
5 368304 |7 — (T 1 15,400
6 367305 |2rhm—L=T— (T 1 4,900
8 367307 | —UL TS 2 710
9 1423.06 |HER L —1 ([ W 14,700
10 368309 | N\NTUUL T T N— 1 30,600
11 368310  |{H 5 as 1 30,600
12 368311  |H/3— 1 49,600
13 367313 |=T7— T4 H— 0! 5,300
14 367314 |arbhm—LmT —T 4L R— 0! 2,000
15 2332082 1
16 368324  |T A AH ARV 2 7,800
17 368319  |{HE~vh 1 14,700
18 368320  |Akvwsi— 2 2,600
23 367324 |74 NH—HZ 1 2,600
25 367325 |Amv kL 1 1,100
28 9974142 |0V 7 6 540
29 9974217 |mv Ry —L 2 2,700
30 369290 |/ Amy LT 2 8,000
31 9943081 |z=rbm—/L=vk 1 45,000
32 9962019 |7Fvi o 1 5,300
33 9998662 |[E"ARL AR 1 41,700
34 9974091 [ —U 7 /Ry Q! 2,600
35 368286 |ZeTFR 1 6,400
36 9974087 |0 V> ([ P 1,200
37 9974085 [0 V» 2 0> 4502 hfr— L=k
39 9974089 |0V ( 400|=> br— =7 —
40 9974096 [0V ( W 540
41 9971137 |0V ( W 690| =7 — A7
42 9974100 |0V Q! 760|727 Hy R —
43 9974101 |0 V> Q1 640\ NI T IR —
44 9998674 |75 1 2,200|2 ha— LNy
45 9998274 |FF 1 2,200z ha— LNy
46 2330371 1
47 9998675 |5 2 2,200|7 7
48 2359171 |z bha—ior 1 190,000
49 9925026 [T p— 2 540[M14
50 9900225  [/ASFARLE 3 1,500[M10 X 150
51 9910605 [T vk 1 1,400|M20
52 9920106 |[‘ET v p— 3 210|M10
53 9920110 [FEUvi¥— 1 380|M20
54 9907125 |[~FHPo—T7H o' 0l 2 540|T25 - 5.8 X 40
55 9900313 [/ ARV 3 230[M8 X 25
56 9920102 [T v — 3 180[M8
57 9970149 [ —UrZV Q1 600
58 9952668 |[~—2 1 2,900|P28-1.35-J38-J75
59 9952667 (VT 1 800|P28-1.35-J38+J75
60 9900701 |9 0EIff/hAal 1 220|M5 X 12

Ak - i - MR T ERKERT2ENHYET,

Z

LEOOI30A-1-2-1

2024.02



Leopard 35-70 new WAENER

POS RS il T TEAM ik
61 9921505 |AZ VLT Ty v— 1 190(M5
69 9998718 |zr hrr— L AR 1 310
71 2330382 1
72 2332077 1
74 368038 |2 — Ly 1 4,400
75 368313 |Z L /X— 2 1,100
81 9943081 |z b—/ L=k 1 45,000
100 2328607 |7 —arba—/La=vk 6 vk 1 89,600
106 9992590 1
107 9992511 |72 A 243 1
108 9992831 1
109 9992616 |[EV=—hk DX ZJ—2A 1
110 1 B A~ R]
368995 |7 —F—X—H—EZXEvh [ ] 46,400

LEO0130A-1-2-2

3
AR « i - MRS T ERKEET2HR/HVET, 2024.02



Leopard 35-70 new

A
WAGNER

I7—arvkOo—)LaA=—wvk

IE00136A
POS RS i M TEAM ik
1 2328607 |7 —arbo—La=vh 6 vk 1 89,600
2 2309973 |[[EHLF¥alL—&— LT 6 1 22,700
3 9998725 | JIEF 1 7,700
4 2309783 |[FA4ARNE2—&— 6 1 27,500
5 3050699 [/ £ XA LR 2 320
6 9907024  |/SA IR ILR 2
7 3050697 [N 7UFAR LR 2 250
8 9974166 |O U2 1 730
9 9971018 |0 U2 1 240
10 3105540 (O Vv 1 690
11 9971137 |0V 1 6907 — /A7
12 2370107 | PR—)L LT 6 1 54,500
13 9904407 |NFINETT T 1 250[R1/4
14 9992831 1
15 1
16 71— 1 el
LE00136A
4
AR « 50 - MSIE T ERSKERET2F/HETS, 2024.02



Leopard 35-70 new WAENER

FRRTER

70cc

32

1, —60
5—
60
N
43——5
28— -
p—— N
l{s_60 0 a )
25 6 70 Nm +10Nm
_g 52 |bft * 7 Ibft
91— 12— \\@\ e
== Q=) :
bt S 101
ok —>o &2 3
% = :
60% B
62
2 —50
61 -
— 51

|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
s |
52 S - 100 i
i
|
|
|
|
|
|
|
|
|
|
|
|
|
|
l
|
|
|
|
|
|
|
|
I
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|

1
L 100 Nm
0 apt @ 4 @}57
—> 23 20— 60
> © =22 | 103 N
> ©S =23 104 4 \@\
= , N —61
60 —>r &S >—22 | 105
—rx 23
Ss 18
e ! n—g

[EO0141A

AR « i - MRS T ERKEET2HR/HVET, 2024.02



Leopard 35-70 new

A
WAGNER

POS S 4 Hk A fii &
1 2329645 |@ElRL~ T0PE/TG 1
2329647 1
2 368502 | LIRS VA — 1 49,600
3 368503 | FHl LA — 1 56,000
4 2322465 |2 Lv kLS 70 1 33,700
5 368505 |E ARy 1 87,600
6 368506 |mvzial 1 8,800
7 368507 |[R—nHAK @10 3,000
8 368501 | L7550 1 46,400
9 368509 [ AFpT —h 1 24,200
10 368510  [mhHIFR—b 1 22,700
11 368511 |F7Iov 1 24,200
12 368512 [MEIYL s 2 3,100
13 368513 [Vr2 1 1,500
16 368516 [V AR—hK) 1 4,800
17 367519 |[FLovre—Ur s 1 1,500
18 368518 [YAR—KJL 2 1 8,700
19 368519 |[FLwir—Ur s 1 1,900
100 367991 [SwFkibob 1 29,200 PE/TG
101 367992 [ SvFkbob 1 32,000 PE-3 T-2
102 367993 [ SvFiEob 1 33,700 PE-3 L2
20 367522 [V jwx [P 4,600 TG
367900 [V /8w %y 20 6,400 T
367922 [V /<wy 2 8,800 L
21 367523 [V Suxr @30 [4,000 PE
103 368991  [SwFiEoh 1 24,200 PE/TG
104 368992  [/SwExtwb 1 35,300 PE-3 T-2
105 368993 |[SvFk i oh 1 40,000 PE-3 1.-2
22 368522 [V 3wk ( P 6,000 TG
368900 [V /3w 20 6,900 T
368922 [V /8wy 2 13,500 L
23 368523 [V /SwF @30 (5300 PE
25 368525 [0V @20 (2,200
27 368527 OV @10 |[1,200
28 368528 [0V @10 |[1,700
31 367531 A AT 1 6,500
32 367532 | By VLT TN— 2 2,900
39 9974089 |0 V2 @60 [400 oy ha—LT 7 —
40 9998670 |VT-—T7 T vl p— @10 |[7,800 (1)
41 9998671 |V -—T7 Tl p— @10 |[7,300 (K)
49 9943082 |FpAR— L @10 [5900 o 28
43 9941512 |FpAR— L @10 (2,90 o 15
44 9974092 |0 VoV B @10 (1,200
45 9974093 |0 V> 2 @10 (930
46 9974107 |0 Vv @10 [960
50 9907124 |AfRLh 3 1,200 M10 X 200
51 9920106 |-V v v— 6 210 M10
52 9900225 |/AFHRALR 3 1,500 M10 X 150
53 367306 |[A~—H— 3 5,300
57 369926 [EASEM BIHA— A I AR 1 81,400 FEAESLE
60 TJ—A 1 A AT
61 9992609 1
62 VR 1
70 2329922 |7 4vF7 407 1 15,700
71 2329898 [FHR)—7 1 370
368990 |[BBlRL T — AE Y [ 73,300 PE/TG
368994 [H—rEZEVh @) 71,900 PE/T
6 LEOO141A

Ak - i - MR T ERKERT2ENHYET,

2024.02



Leopard 35-70 new

A
WAGNER

I7—a—kFal—F—tvhk

1
[E00152A
POS S B B TEAM ik
2328611 |=7—a—hLFal—H— 1 31,000
1-1 2309972 |ESHLFal—F— LT 4 1 12,700
1-2 9998677 | J1Et 1 7,700
1-3 2325527 |[HEZL—h 1
1-4 9971313 |0 Vv 1 640[12 X 2
1-5 9974166 |0 Vv 1 730
1-6 9900320 |/ INAFR LR 1 230[M5 X 60
1-7 9906021  |/NH AR LR 1 320/M5 X 70
2 2103559 |/N—Toa=Fr 1 1,800{R1/4M X ( ¢ 8- ¢ 6)

Ak - i - MR T ERKERT2ENHYET,

7

LEOO152A

2024.02



) A
Leopard 35-70 new WAGNER

Yo ik—Xtyk / )E3—2R—X vk

[F00040A
POS h B $rg: TEA ik
1 2324116 | AR— A+ hk DN25 1 35,800[1.35-70, 1.35-150, J75-150 i@
1-2 | 253426 |==A>F vk 1 1,800
1-3 | 2322704 [Hriar=v7F)L 1 5,700
1-4 | 2323953 |74v T 422 1 5,900
1-5 | 2323474 [HZ7iardm—A DN25 X 1m 1 5,400
1-6 | 2323491 [F—ANUR 2 2,400
1-7 | 2324071 [Hrar (47 1 27,300
1-8 | 2323325 |rvar7 2 — 1 5,400[DN25-18 A3 =
2 367189 [Vx—1k—ZE vk 1 31,000[L.35-70, 1.35-150, J75-150 i
LF00040A
8

AR « i - MRS T ERKEET2HR/HVET, 2024.02



Leopard 35-70 new WAENER

HYoavtyk /1)A—2Rk—X vk

?[12 1-4 § 2

1-3
D 1-2
" °y e
\ /
1 suctionDN16
POS i i T TEAT ik
2324110 |Hrark—Atvh 1 33,100|DN16 7 /L4 —fF
1-1 253426 |=FrF vk (1) 1,800
1-2 2322702 |[Yriar=v 7 (1) 10,700
1-3 2323329 |LP- 7k—% D16-PN10 1m (1) 5,300
1-4 2323505 |— AR (2) 2,900
1-5 (1) HLL S A R]
1-6 2323396 |Hr a7 44— DNI6 - 18 (1) 5,400
2 2324247 |Yrar LR 1 20,500
suctionDN16
9

AR « i - MRS T ERKEET2HR/HVET, 2024.02



) A
Leopard 35-70 new WAGNER

5L 7w/ s—t bk

IE00046D
POS ih % 4 B TEAT i
1 2332169 |E°AN R 7 H 5L Ry i—t vk 1 68,800
2323225 |[Hr g LR 1 55,700
LE00046A
10

AR « i - MRS T ERKEET2HR/HVET, 2024.02



